ABIHF AVSRA oUT N GROSS  HDCP NET
B B BmBA B 38| 41 79] 11.0/ 68.0
Eigly  KE 41137, | 718 9.0 69.0
U &K 40 38 18 9.0 69.0
A5 - (4240 82 12.0 /0.0
bii =7 139 40 79 9.0 70.0
oy L 39 42 81, 11.0 70.0
T #&id ¥R 37736, | 13 2.0 /1.0
84 FJIl —EP 40| 42 82 11.0 71.0
O BB FHI- 4037 | 71 5.0 72.0
104 /NEF 36/38 | 74 2.0 72.0
114 HH M- a13 | 791 6.0 73.0
126 TEF 25k 2140 81 8.0 73.0
136 & = 45 40 85 11.0 74.0
1440 /A 168 i a1 42 83 9.0 74.0
154 A+ 41 43 84 10.0 74.0




BAF BYSX ouT  IN GROSS  HDCP NET
= B BR RZ 53| 44 9/ 32.0 65.0
Al f2E Hl 4743 | 90 23.0 67.0
i HFE [FE 2041 | 81 14.0 6/.0
A BER F 40 44 84 17.0 6/.0
by E=EH EE 43 41 84 14.0 70.0
6L Mg BE 42 44 86 16.0 70.0
L AE StE 50 52 102) 32.0 70.0
8L LTH (K r5 48 103 32.0 71.0
9 [HH EHz 45| 42 87 16.0 71.0
106 THEA W 14 44 88 16.0 72.0
1L ER K HE 5147 | 98] 25.0 73.0
1262 )IlA & 1643 | 89 16.0 73.0
1260 Al FEX 46/ 43 89 16.0 73.0
1461 MR EE 42| 45 87 14.0 73.0
15 /DirH BT 50 54 104 31.0 73.0




AfF LT1—X ouT IN GROSS  HDCP NET

e B BN dHF 39 40 79 13.0 66.0
EEB K 1= #2140 | 81 14.0 67.0
%] v HEY 40| 40 800 13.0 6/.0
iivi **T M 40| 37 77 9.0 68.0
bii B b LEH 40 40 80| 10.0 70.0
6L |THA FOH 136/ 39 /1o 4.0/ 71.0
_________ i 2 ZEfFE 36 41 77 5.0 72.0
8 thiE T 1045 | 85 13.0 72.0
9y A FAH 0 w31 19 6.0 73.0
106 =8 =HRF 45 44 89 16.0 73.0
114z #E E&4-F 38| 41 79 6.0 73.0
1260 HE JLX 1242 84 10.0 74.0
135 AHE =7+ 41144 85 10.0/ 75.0
146 B/l EF s 450 86 11.0 75.0
bii #K mIE 44 42 86/ 10.0/ 76.0




